Settlement Hierarchy

An important topic all about importance. Lots of key terms to learn that will help to boost your grade. 
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Settlements can be arranged in order of importance – a hierarchy.

Three criteria are used to decide the hierarchy:

· Population size

· Range and number of services
· Distance from other settlement of the same size

Settlement hierarchies can be represented with a pyramid. 

Mega-cities (population over 10 million) are placed at the top of the pyramid because they have the highest population, a huge range and number of services and will be a long way from any other mega-cities.

Hamlets are placed at the bottom of the pyramid because they have very few people, possibly no services and they will be close to other hamlets.

Sphere of influence

The sphere of influence is the area influenced by the services of a settlement. It is determined by the range and threshold.

· Range is the maximum distance people are prepared to travel to use a service.

· Threshold is the minimum number of customers needed to support a service.

The larger the settlement the wider its sphere of influence will be.

How to remember range and threshold – range is the distance you would be prepared to travel to a McDonald’s, and if there isn’t a McDonalds’s where you live there aren’t enough people to meet the threshold. 

Question Bank

1. What is a hierarchy?

2. What are the three criteria used to work out a settlement hierarchy?

3. What term describes the maximum distance people are prepared to travel to use a service?

4. What term describes the minimum number of customers needed to support a service?

5. What is the ‘sphere of influence’?

6. Arrange the following settlement in a hierarchy.

a) Village

b) City

c) Hamlet

d) Town

e) Mega-city

Most important;              1                   2                    3                        4                        5            Least important

